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HEFER | #Et (N %
Jtime 252 3.6%
FHRE 57 0.8%
=F 8 61 0.9%
= I R 107 1.5%
FHE 56 0.8%
LR 34 0.5%
BER 21 0.4%
R R 138 2.0%
AR 115 1.6%
AR 74 1.0%
FEE 180 2.5%
TER 261 3.7%
BRRER 1391 19.7%
RS 502 7.1%
s R 98 1.4%
=E 53 0.8%
AR 54 0.8%
BHE 37 0.5%
AT 32 0.5%
~ERE 103 1.5%
I & 12 85 1.2%
Aol IR 123 1.7%
2AME 392 5.6%
=815 94 1.3%
HEE 3l 1.1%
AT 244 3.5%
KB 550 1.8%
FER 264 3. 7%
ARE 34 1.2%
ML E 15 0.2%
SHEUR 30 0.4%
SRE 21 0.4%
[ 1 Ly IR 178 2.5%
IN=TS 100 1.4%
Inmps A4 0.6%
REE 58 0.8%
HINE 40 0.6%
2R 76 1.1%
AR 48 0.7%
LTS 325 4.6%
(= 28 0.4%
RIF R 76 1.1%
REAR 104 1.5%
KRR 59 0.8%
= I 12 35 0.5%
BREE 91 1.3%
iR 108 1.5%
RIE 0 0.0%
pI RS 68 1.0%
&t 7,059 100%
HEBTE 3160 44.8%
EERUANDTER 3831 54.3%
p RS 68 1.0%

WEFEL | #HBE (A) %
tiEE 97 1.4%
FHRE 25 0.4%
=T 35 0.5%
=i R 69 1.0%
R 27 0.4%
P E 28 0.4%
BEE 22 0.3%
/3 57 0.8%
AR 107 1.5%
HEEER 40 0.6%
FEE 153 2.2%
FER 151 2.1%
BRAD 883 12.5%
eI 374 5.3%
IR R 35 0.5%
=8 24 0.3%
aIE 10 0.1%
BHE 31 0.4%
L ELS 31 0.4%
RHE 45 0.6%
7 E2 18 50 0.7%
B[ 2 128 1.8%
B 319 4.5%
—E8 62 0.9%
BB 57 0.8%
RS 117 1.7%
K BRI 331 4.7%
RER 179 2.5%
=R 70 1.0%
FFRLE 9 0.1%
BHUE 18 0.3%
BRE 16 0.2%
[ 1Ly 1B 157 2.2%
IN=1= 59 0.8%
LhaE 19 0.3%
=g 20 0.3%
HNE 34 0.5%
BRI 49 0.7%
S8 33 0.5%
& ) 12 135 1.9%
EEE 22 0.3%
RiF8E 21 0.3%
RN 43 0.6%
AR 26 0.4%
= IR 27 0.4%
EREE 33 0.5%
PR 64 0.9%
RIE 1340 19.0%
g 1377 19.5%
= 7059| 100.0%
HERFIR 2042 28.9%
LR DFFIE 3640 51.6%
g [E]feas 1377 19.5%
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wEFREE |5 (N) %

itime 36 1.2%
FHRE 23 0.3%
=2F 8 23 0.3%
=R 62 0.9%
FEHE 23 0.3%
LR 16 0.2%
BEER 14 0.2%
RIPR 32 0.5%
AR 57 0.8%
AEE 23 0.3%
FER 126 1.8%
TER 144 2.0%
BRRE 613 8.7%
)R 250 3.5%
o R 30 0.4%
=E 19 0.3%
AR 3 0.1%
BHE 26 0.4%
T 15 0.2%
REFE 22 0.3%
I B IR 45 0.6%
A3 IR 120 1.7%
AR 265 3.8%
=815 53 0.8%
HE R 35 0.5%
REHT 96 1.4%
NV 249 3.5%
FER 120 1.7%
RRE 46 0.7%
AMF LR 8 0.1%
SEE 9 0.1%
SRE 13 0.2%
g 1Ly R 120 1.7%
IN=1 37 0.5%
LEaE 15 0.2%
wER 12 0.2%
=R 22 0.3%
EIEIR 33 0.5%
= AR 25 0.4%
LS 106 1.5%
rFHEE 16 0.2%
RIFGE 11 0.2%
FERIR 32 0.5%
R R 21 0.3%
= I 1R 21 0.3%
BREER 16 0.2%
iR 42 0.6%
RIE 1852 26.2%
p RS 2007 28.4%
= 7059 100.0%
HEBAFE 1483 21.0%
EERUANDITER 3569 50.6%
RS 2007 28.4%
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HEmREL |#ir (N %
Jtime 1 0.1%
FHRE 0 0.0%
=F 8 0 0.0%
= I R 0 0.0%
RS 0 0.0%
LR 0 0.0%
BEE 3 0.2%
IR 18 1.1%
RN 18 1.1%
AR 2 0.1%
LR 31 1.9%
TER 54 3.3%
BRRER 1,367 84.8%
RS 30 5.0%
s R 0 0.0%
=R 1 0.1%
AR 0 0.0%
BHE 0 0.0%
AT 1 0.1%
~ERE 2 0.1%
I B IR 0 0.0%
AR (B 23 1.4%
2AME 0 0.0%
=815 0 0.0%
HEE 0 0.0%
REBIT 0 0.0%
N 0 0.0%
FER 0 0.0%
RRE 0 0.0%
eI 0 0.0%
SEE 0 0.0%
SRE 0 0.0%
[ 1 Ly IR 0 0.0%
IN=TS 0 0.0%
Inmps 0 0.0%
REE 0 0.0%
HINE 0 0.0%
2RISR 0 0.0%
AR 0 0.0%
LTS 0 0.0%
= 0 0.0%
RIF R 0 0.0%
RN 0 0.0%
KRR 0 0.0%
= iy 2 0 0.0%
BREE 0 0.0%
iR 1 0.1%
RIE 0 0.0%
pI RS 10 0.6%
ait 1,612 100%
HEBTE 1447 89.8%
EERUANDTER 155 9.6%
p RS 10 0.6%

WEFRER |[fat (N) %
itime 2 0.1%
BHRE 1 0.1%
=2F 8 0 0.0%
=R 0 0.0%
FXHE 0 0.0%
LR 2 0.1%
BEER 4 0.2%
KRR 32 2.0%
AEINES 21 1.7%
AER 6 0.4%
aEER 52 3.2%
TER 55 3.4%
BORER 853 52.9%
BN 115 7.1%
T = 0 0.0%
= 1 0.1%
AR 0 0.0%
BHE 0 0.0%
AT I 0.4%
~ERE 3 0.2%
I BB IR 0 0.0%
B B 31 1.9%
FAE 1 0.1%
=815 0 0.0%
HEE 0 0.0%
REBAT 0 0.0%
NG 0 0.0%
FER 0 0.0%
ENEL 0 0.0%
AR R 0 0.0%
SHUE 0 0.0%
SRE 0 0.0%
AP 0 0.0%
TN 1 0.1%
LR 0 0.0%
BER 0 0.0%
FNE 0 0.0%
ZiER 0 0.0%
= AR 0 0.0%
1& [ 2 1 0.1%
(= 0 0.0%
RIFE 0 0.0%
FERIR 0 0.0%
Ry lR 0 0.0%
= iy 2 1 0.1%
BREE 3 0.2%
iR 2 0.1%
RIE 0 0.0%
pI IR 412 25.6%
a&t 1,612 100%
HE TR 970 60.2%
EEUNDITE 230 14.3%
p RS 412 25.6%

LemREe [#it (N) %
itime 2 0.1%
BHRE 0 0.0%
=2F 8 0 0.0%
=R 0 0.0%
FXEHE 0 0.0%
LR 4 0.2%
BER 3 0.2%
R R 12 0.7%
UAEINES 17 1.1%
AEE 5 0.3%
aER 49 3.0%
TER 71 4.4%
BRRE 588 36.5%
)R 63 3.9%
o R 1 0.1%
=E 0 0.0%
AlllR 0 0.0%
BHE 0 0.0%
T 2 0.1%
~ERE 1 0.1%
I & 12 1 0.1%
A3 IR 28 1.7%
AR 0 0.0%
=815 0 0.0%
HEE 0 0.0%
REBAT 0 0.0%
NV 1 0.1%
FER 0 0.0%
RRE 0 0.0%
AMF LR 0 0.0%
SHUE 0 0.0%
SRE 1 0.1%
g 1Ly R 0 0.0%
IN=1 3 0.2%
LEaE 0 0.0%
wER 0 0.0%
=R 0 0.0%
EIEIR 0 0.0%
= AR 0 0.0%
1& e 12 0 0.0%
= 0 0.0%
RIFGE 0 0.0%
FERIR 0 0.0%
R R 0 0.0%
= Iy 2 0 0.0%
BREER 0 0.0%
iR 4 0.2%
RIE 0 0.0%
p RS 756 46.9%
ait 1,612 100%
HEBAFE 652 40.4%
EERUANDITER 204 12.7%
RS 756 46.9%




